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Establish Position of Target at Time of Launch

(Continued}’

The time from perigee to the intercept point is
obtained from
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tof [ Epg - ef sin Epf | (2.5=7)

2%

ef + cos fB,f
E,f = COS [ ]
I + ef cos 6y¢

‘=2 tan™! | V rpe tan B¢ {2.5-8)

sz = et - \P

Adding the correction for oblateness,
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Substituting these values into equation 2,5-1 gives
t,f or the time before perigee in the final orbit at
the time of launch. This time is used to obtain the
initial position of the target at the time of launch,.
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